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STl s R S B s S R (9] A9
Hopnn R @2 A AF el B P 2273 oA 20164 7174 | 2016 HF
A A A (B) oA Ak (A) A4k (A+B)

3+A 3,683,971 95,894,886 99,578,857

s 3,683,971 95,894,886 99,578,857
FoldXF T aF 3,683,971 92,341,524 96,025,495
ASEXA Y 217,674 9,712,800 9,695,126
F4x4 A17,674 8,022,050 8,004,376

g7 wauAd A17,674 8,022,050 8,004,376

1. 952208 H] %) A17,674 894,969 877,295

7f. 25w 620-03 1209 x16,1927 x188Y = A8,035 372,666 364,631

T 3,900 214,115 210,215

1) 39 620—03 1209 x5,450% x 188U = A1,038 123,827 122,789

2) A 620—10 1209 x3,865% X188 = ~2,862 90,288 87,426

o 58y 25,601 276,627 271,026

1) =9 610—-01 1209 %901 X190 = A91 20,634 20,543

2) &9 620—03 1209 x3,675% X190 = A1,016 84,725 83,709

3) AHY 620—-10 1209 x7,4057 x 1889 = A4,494 171,268 166,774

g2t 558 620—10 1209 %194 x190Y = A138 4,560 4,422

BAFH/AZEF 1,498,557 967,697 2,466,254
F2 97 1,498,557 781,169 2,279,726

s FASH A 1,498,557 746,772 2,245,329

1. st FA 7| FUAE &= 1,498,557 746,772 2,245,329

7. F2AA 4 E g 3 896,944 546,815 1,443,759

1) o8l 5= 418,564 418,564

7h Al 412,594 412,594

(1) Az rdd 420-03 [2,337,0009 X 229.25m' X 60%= 321,454 321,454

(2) Adg=x 420-03 191,140,000¢= 91,140 91,140

Lh) A in) 420-05 |412,594,0009 xX0.72%= 2,970 2,970

t}h) 7] F-o]AdH] 620—03 |3,000,000¢ = 3,000 3,000

2) FIXIx 231,938 231,938

7 A A 420—03 215,938,0009 X 6.626% X 80%= 11,446 11,446

) A)dn] 215,938 215,938

(D =4z nd 420-03 |2,337,000€] X 154w X 60%= 215,938 215,938

th A E o) 420-05 215,938,0009 X0.72%= 1,554 1,554

TEUSs - BA/EA/A
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Apel el g Az ol 22pF7 | 20169 71 | 2016 HF

(B) o AF(A) ok (A+B)
2} 7] F+o] ) 620-03 |3,000,000¢4 = 3,000 3,000
3) HjAkx 38,335 142,253 180,588
7 A8t w32 7 e 430-01 |180,588,0009 = 38,335 142,253 180,588
4) olg|Zex 32,247 32,247
71 A A] 420-02 [27,020,0009 X8.96% x 80%= 1,936 1,936
L) Al 27,020 27,020
(1) zgdngy 420-03 |12,080,000¢ x 221 = 24,160 24,160
(2) 2y AZ=AR 74 420-03 1,430,000¢ x 22 = 2,860 2,860
h) A En] 420-05 [27,020,0009 x1.08%= 291 291
2}) 7)o n| 620—03 |3,000,000¢9 = 3,000 3,000
5) Tz 141,750 141,750
7 A Am] 420—02 132,065,0009 X5.248% X 80%= 5,544 5,544
) A)dn] 132,065 132,065
(1) =88 ndd 420-03 |2,337,0009 X 66m X 60%= 92,545 92,545
(2) Agg| g 420-03 139,520,000 = 39,520 39,520
oh) AR 420-05 |132,065,0009 X 0.864%= 1,141 1,141
Zh) 7] o] Adn] 620—03 3,000,000 = 3,000 3,000
6) AEx 16,110 16,110
7 A]Zdn] 420-03 16,110,0009 x 1= 16,110 16,110
7) olglYg Tz 18,000 18,000
7h Al 18,000 18,000
(1) w719 EA A 420-03 |18,000,000¢ = 18,000 18,000
v w3 g SEE 598,613 199,957 798,570
1) 253w (311) 620-03 |397,447,0009= 245,228 152,219 397,447
2) 8w 115,541 20,018 135,559
7h &9 (61) 620-03 |134,074,0009= 114,056 20,018 134,074
W) A (1) 620—10 |1,485,000¢= 1,485 1,485
3) 158w 181,149 27,720 208,869
7h 39 (3a) 620—03 29,548,000 = 21,048 8,500 29,548
) AR (73) 62010 |179,321,0009 = 160,101 19,220 179,321
4) E=8y 56,695 56,695
7H AF (13) 620-10 |56,695,000¢ = 56,695 56,695
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GEREE)

AU o == NENR = 227 A 20169 714 | 20169 H=

(B) o AF(A) JAH(A+B)
oh, A2 oA - 3,000 3,000
1) x5stu 620-03 |3,000,0009 = 3,000 3,000
TR AMNAA 2,203,088 17,182,882 19,385,970
2,203,088 15,521,912 17,725,000
TEEAMNA 2,203,088 15,521,912 17,725,000
1.9 - A AEARA 138,200 51,670 189,870
bAoA (S ) 138,200 138,200
1) A4 138,200 138,200
7P olgl&Ex 420-03 16,910,0009 x 82 = 55,280 55,280
) A= 420-03 16,910,000 x 122 = 82,920 82,920
2. TAAEAAMNA 160,000 80,000 240,000
7F SRR (5 an) 160,000 160,000
1) A]AdH] 160,000 160,000
7H Sz 420-03 |26,000,0009 x 13 26,000 26,000
) o]y mlstx 420-03 [26,000,0009 X112 = 26,000 26,000
) $9x 420-03 |30,000,0009 x 131 = 30,000 30,000
b = 420-03 |26,000,0009 x 131.= 26,000 26,000
uph) ik 420-03 |26,000,0009 x 131 = 26,000 26,000
v} st = 420-03 [26,000,0009 x 13 26,000 26,000
3. A kA A 259,440 5,781,555 6,040,995
7b A (A R) WA (F) 259,440 259,440
1) AlAdH] 259,440 259,440
7h oAbz 420-03 |11,040,0009 x9.52 = 104,880 104,880
) GAakx 420-03 |11,040,0009 x 541 = 55,200 55,200
o} shep= 420-03 [11,040,0009 X924 = 99,360 99,360
4. QHRIAAFNA 1,420,251 1,781,754 3,202,005
7F &% 460,412 620,156 1,080,568
1) A Am] 420-02 |431,935,0009 X 5.873%= 25,367 25,367
2) A7dH] 431,935 589,632 1,021,567
7hH A% 420-03 |284,0009 X 40m= 11,360 11,360
W) ke x 420-03 |289,0009 X 30m= 8,670 8,670
h) o]y &% 420-03 [284,0009 X170m= 48,280 48,280
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BEoltnSA 9% CORE )

9] RE el w = A E ol 231370 [ 20169 714 | 20164 H=E
A A B o e (B) A (A) At (A+B)
2} Fvkx 420-03 |284,0009 x 100m= 28,400 28,400
ul) olglTE X 420-03 |289,000€ X 50m= 14,450 14,450
up) 8<% 420-03 |455,0009 X 150m= 68,250 68,250
ADH Ad= 420-03 |455,0009 X 100m= 45,500 45,500
o) FFF 420-03 455,0009 X 455m= 207,025 207,025
3) A E iy 420-05 [431,935,0009 X0.720%= 3,110 3,110
[ s 293,349 476,309 769,658
1) A A 8] 420-02 |274,150,000¢ X6.283%= 17,225 17,225
2) AlAdn] 274,150 451,962 726,112
7h olglEx 420-03 [238,0009 X 150m'= 35,700 35,700
) o]y A d % 420-03 [50,000€ x1,000m'= 50,000 50,000
oh A7) % 420-03 238,0009 X 300m'= 71,400 71,400
2h) Atz 420-03 1238,0009 X 400m'= 95,200 95,200
np) ol FAdx 420-03 50,0009 X 437 = 21,850 21,850
3) Al F-ofiv] 420-05 |274,150,0009 X 0.720%= 1,974 1,974
o} W= 178,814 398,750 577,564
1) 2 A] 420-02 |165,430,0009 X 7.308%= 12,090 12,090
2) Al 165,430 378,520 543,950
7hH gEx 420-03 [233,0009 X 100m= 23,300 23,300
W) 5% 420-03 [233,0009 X 200m= 46,600 46,600
o) £<kx 420-03 233,0009 X 100m= 23,300 23,300
b olglEx 420-03 [233,0009 X 200m= 46,600 46,600
uh) Gk 420-03 |233,0009 X 110m= 25,630 25,630
3) A Xt n] 420-05 | 165,430,0009 X0.782%= 1,294 1,294
gt Hlg RS 253,341 253,341
1) AlAdH] 250,635 250,635
hH 5= 420-03 150,0009 X 315m'= 47,250 47,250
) oAbz 420-03 447,0009 X 400m'= 178,800 178,800
o} olg| &= 420-03 447,0009 X55m'= 24,585 24,585
2) A n] 420-05 250,635,0009 X 1.080%= 2,706 2,706
v, A EF A 17,144 17,144
1) A1) 16,960 16,960
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B STAL R ke (29 - A9

9 A - Apel el g Azl 22FFA N | 20169 7174 | 20169 HF
A A ) B B - B (B) o AF(A) ok (A+B)
7H FE= 420-03 [80,0009 x 212m= 16,960 16,960

2) Al Ry 420-05 |16,960,0009 X 1.080%= 184 184
vl =S A|EEH A 217,191 217,191
1) A A 420-02 |67,667,0009 X 8.769%= 5,934 5,934
2) Al’dH] 209,747 209,747
7P gebx (575 4) 420-03 |11,840,0009 X 1%5= 11,840 11,840

W) nEx () 420-03 |11,840,0009 X 1% = 11,840 11,840
o) GE= ) 420-03 |11,840,0009 x 1% = 11,840 11,840
) FsEx () 420-03 [35,520,0009 X 1% = 35,520 35,520
nh) g F () 420-03 |35,520,0009 X 15= 35,520 35,520
Hh) oJAbx (a7l =) 420-03 |67,667,0009 x 1% = 67,667 67,667
AP S¥EZ (AHE) 420-03 |11,840,0009 x 15 = 11,840 11,840
o) HAM % (34) 420-03 |11,840,0009 x 15 = 11,840 11,840
A1) g3 (oF2)erEA) 420-03 [11,840,0009 x 1% = 11,840 11,840

3) Al 2] 420-05 |209,747,0009 X 0.720%= 1,510 1,510
5. AZIA A ANA 95,147 692,362 787,509
7}. 2% A (LED) (3 11) 56,120 56,120
1) A1) 56,120 56,120
7h oJAtx 420-03 |2,440,0009 x 941 = 21,960 21,960
) Gakx 420-03 2,440,000 x 52 = 12,200 12,200
) seps 420-03 |2,440,0009 x 94 = 21,960 21,960
U w5l w A (55 an) 25,530 25,530
1) A4 25,530 25,530
7h oAz 420-03 |1,110,0009 x 92 = 9,990 9,990
) Fxkx 420-03 |1,110,000¢ X524 = 5,550 5,550
) sepz 420-03 |1,110,0009 x 92 = 9,990 9,990
o A7) g (Fa) 13,497 13,497
1) A]4dH] 13,497 13,497
7 2= 420-03 269,000 X 50kw= 13,497 13,497

6. AF-FRF A AHE) 130,050 106,280 236,330
ViR= 130,050 53,280 183,330
1) YA 620—11 |289,0009 X 450m= 130,050 130,050
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